Applied Arithmetic Test
Sandford Park School
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Question 1 /]45/marks] [10 minutes)

A cute top was bought online for €26. If VAT was 22% of the cost of the top and the cost of

delivery was €4.99, what was the total cost paid? / WAL ES
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Question 2 [10 marks] [S minutes]

Eva bought an Xbox for $199.95 when she was on holidays in the United States. The
exchange rate was $1.33 = €1

(a) Convert the cost of the Xbox to euro. Write your answer correct to the nearest cent.
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(b) An Xbox of the same model costs €269.99 in Ireland. How much

money did Eva save by

buying the Xbox in the United States?
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Question 3

7% for 5 years.

Jim invests 10,000 at a simple interest rate of 3.
for 5 years.

Laura invests 10,000 at a compound interest rate of 3.7%
How much more or less does Laura earn than Jim?
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Question 4 [15 marks] [10 minutes]

Eve is deciding which bank to invest her lottery winnings in. She wants to invest €1 ,000,000

Option A - Invest the amount for 3 years at a changing compound interest rate (12% for the
first year, 6% for the second year, 3% for the last year)

Option B - Invest the amount at a compound interest rate of 8% for 3 years

Provide a mathematically sound argument as to which account Eve should invest her money
into.
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Question S (20 marks] [15 minutes]

mﬂd rate of income tax is 20% and the higher rate is 41% | up To 30800
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Liz’s gross income is €30 000. What is her gross tax?
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Liz gets €2, 900 tax credits this year. What is Liz’s net income?
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Malcolm’s gross income is €40, 800, what is his gross tax?
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Malcolm’s net income after tax and a certain amount he put in his savings was €29, 160. If he
got €1, 200 tax credits, how much did he put away in his savings account?
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